€1°60¥/0d

B20

MFO-PO5

Individual Wiring Type Manifold
Bar Type

MFSO-PC5

common SUP, common EXH,
port 1,3 &5 on both sides
MFSO-PD5

Common SUP, common EXH,
port 1,3 &5 on one side
MFSO-PI5

Common SUP, individual EXH,
port 1 on one side

Manifold Specificiations

MFSO-PC5 MFSO-PD5 MFSO-PI6
Type of manifold common SUP, common common SUP, common SUP,
EXH, port 1,3 & 5 on common EXH, common EXH,
both sides port 1,3 & 5 on one side port 1 on one side
Port 1 Rc’s(Both side) Rc%(One side) Rc’(One side)
Port 3, 5 Rc’s(Both side) Rc%(One side) Rc'(Valve body ported)
Port  Tport2, 4 Rc% M5 M5
size
Port Y — — —
Port X — — —
Number of stations 2~20
PCS245(U)-NB - 3 PCS245-R5- 3
Mountable solenoid PCD245(U)-NB- 3¢ PCD245-R5- 3
valve PCD345(U)-NB- 3¢ PCD345-R5- 3
PCE345(U)-NB -3 PCE345-R5- 3
PCO345(U)-NB - 3% PCO345-R5- 3
Blank plate PC5-BP
Optional Parts
Part name Model No.
Blank plate For individual exhaust of pilot PC5-BP

@ FONTAL




Representation

Manifold

PC5

| MFS

2 |- PC5 |- 01 |-

Type of manifold

MFS: Valve body ported,
port 2 & 4 on the side

N: Number of stations
2 . 2 stations

16 : 1.0 stations

No mark Standard

- With bracket Q
Note. Bracket is available o}
for PCS245 mounting. (df)
Port size 2&4 8
M5: M5x0.8
01:RC%

Mountable solenoid valve series

PC5 : common SUP, common EXH, port 1,3 & 5 on both sides
PD5 : common SUP, common EXH, port 1,3 & 5 one side
PI5 : common SUP, individual EXH, port 1 one side

Mountable solenoid valve

(PCS245 | |-{NB|—(D24|SP |LB|

Model No.

PCS245

(A) (B)
24

315
(R1)(P)(R2)

PCD245

(A) (B)
24

315
(R1)(P)(R2)

PCD345

(A) (B)
24

AL T,

315
(R1)(P)(R2)

PCE345

(A) (B)
4

AT

315
(R1}(P)(R2)

PCO3406

(A) (B)
24

315
(R1)(P)(R2)

Manual override

No mark: Standard
(Non locking)
%LB :With locking button

L : Lead wire
SP: Connector with lead wire

Voltage

110: AC110V
220: AC220V
D24: DC24V

NB: Without sub-base
R5: Port 3&5, valve body ported (M5)
Note: A gasket & two mounting screws come with valve.

Special specifications

No mark : Standard (Individual exhaust of pilot)
U : External pilot(Valve body ported)Individual exhaust of pilot

@ %: Made to order

@ FONTAL B21



Dimensions

MFSO-PC5-01 (Unit: mm)

Note: Standard manifold is plugged on “R” (Right) side ports.

T
Q) PCS245
PCD345
5 et e
Q » L Type B ele ] [
= ort 5:
a Relg ™ B
l;o; 1: ‘ I
R 50.5
} 505,37 37
<0, dd| | &
(L) A m (R)
% T D,
36i5 2‘5 . f) 4 lzis T'S '$- P ‘E‘ ‘F‘_‘ zf ‘ @
135
+ /!' sas57 l‘, 7505
Port 3: 14.5 b . l
Relé ‘_‘21‘ 2-¢45
o
56 300 35 P=16n+9 35
2 L=16n+16

b b

blank plate
(PC5-BP)
| ACRe]
03254 | AN ﬁ‘iyfﬁm ar
| Tas A1 G0
Tl \ \ Port 2: Rot%,
SP Type 16 | 16 Port 4: Rc¥s

56
356

n P L n P L

— — — 1 184 | 192
40 | 48 | 12 | 200 | 208
56 | 64 | 13 | 216 | 224
72 | 80 14 | 232 | 240
88 | 96 | 15 | 248 | 256
104 | 112 | 16 | 264 | 272
120 | 128 | 17 | 280 | 288
136 | 144 | 18 | 296 | 304
9 [152 160 | 19 | 312|320

500 10 | 168 | 176 | 20 | 328 | 336
Number of stations

O IN|® |0 AW

3

B22 @ FONTAL



Dimensions

MFSO-PC5-01-B (Unit: mm)
(42}
e
Port 2: Rcls 16 16 8
Port 4: Re% \ a ] a x
~
+ O
Ul e oo o
N a
20535 | AN H*m A |0
] = 2N
5 2]
2-945
AR RN R LS
4 P=16n+8 4
L=16n+16 L Type
PCS245 . 300 56 Port 5:
Note: 1,3&5 ports plugged Relé
Port 1,385 i
blank plate ‘ ] Port 1:
(PC5-BP) 505 RO
qﬁh ] 437 { o
77
é@ . 4 ¥ \ 3 f? I
‘@‘ 26.5 4 ‘% I JP‘ #‘ i? 23 C} 27 385
] ls nl bl Bl ke | - 185 | l
R 16 .16 LI4SN  Port3
215 Relé
SP Type
n P L n P L 56
— | = | =] 11 | 184|192 356
2 | 40 | 48 | 12 | 200 | 208 o
3 | 56 | 64 | 13 | 216 | 224 U Type
4 | 72 | 80 | 14 | 232 | 240 T
5 | 88 | 96 | 15 | 248 | 256
6 104 | 112 | 16 | 264 | 272 60
7 | 120|128 | 17 | 280 | 288 h§
8 | 136 | 144 | 18 | 296 | 304 - i_@
9 | 152|160 | 19 | 312 | 320 Port X A%
10 | 168|176 | 20 | 328 | 336 IR s @
n: Number of stations _1—“

@ FONTAL B23



Dimensions

€1°60¥/0d

MFSO-PD5-M5 (Unit: mm)
PCS245
PCD345 PCD245
T FP’E(E)ng’ 16 16 16
L Type 18
s
Tl o
Port 1: o Port 5:
Re % Rl
- 1 505,05 137505
o 14 &
! 4 ISR BB A ;zIs
18 175 18
i — L= xzf K |
95 sig 8] ¥ ’ 37505 o5k b3 ..
585! 2-435 123 FR’cél;/t:.
H
445 30_0_] 3.5 P=16n+9 35
2 L=16n+16
blank plate
(PC5-BP)
19 H
= )
1 Z.§_L_}y245 ' y Port 2: M5x0.8
16 16 Port 4: M5x0.8
SP Type
445
24.1
500
n P L n P L
— | — | = |11 ]185|192
60 2 | 41 | 48 | 12 | 201 | 208
} 3 | 57 | 64 | 13 | 217 | 224
FS 4 | 73| 80 | 14 | 233240
N - 5 | 89 | 96 | 15 | 249 | 256
I 6 (105|112 | 16 | 265 | 272
} 7 [121|128 | 17 | 281 | 288
& 8 | 137 | 144 | 18 | 297 | 304
9 [153|160 | 19 | 313|320
10 [ 169 | 176 | 20 | 329 | 336
n: Number of stations
500

B24 @ FONTAL



Dimensions

MFSO-PD5-M5-B (Unit: mm)

™
Port 2 ; M5X0.8 16 16 8
Port 4 : M5X0.8 2.5d__._2.5 05 E
T EBF Tl £

28 24 Y N 419

L e ———

2-¢3.5

oo

NI

4 P=16n+8 4
L=16n+16 ' L Type
PCS245 300 2 45
Port 5: g
Rclg
Port 3: blank plate .
Relb (PC5-8P) 437505 fy N i:; 1
> 19 LT ‘
N . & b (}/
43
cfol L TEpRRR] T
sy 1T L | ]
119 f l_i. 16 | 16 10
SP Type
n P L n P L 45 -
24.
— | = | = | 11 184|192 E—
2 40 | 48 | 12 | 200 | 208 b
3 | 56 | 64 | 13 | 216 | 224 U Type
4 72 | 80 | 14 | 232 | 240
5 88 | 96 | 15 | 248 | 256
6 | 104 | 112 | 16 | 264 | 272 60
7 | 120 | 128 | 17 | 280 | 288 A\ t
8 | 136 | 144 | 18 | 296 | 304 b A
9 |152|160 | 19 | 312 | 320 52%8 A=
. 255
10 | 168 | 176 | 20 | 328 | 336

: Number of stations

=3

@ FONTAL B25



Dimensions

MFSO-PI5-M5 (Unit: mm)
PCS245
PCD345
o PCD245
Q L Type %gﬁg 16 , 16 16 Port 5: M5x0.8
5
Port 1:
5: RZ'/G r_
€ ’ 505 137 43.7 505
4
B 5 3'5 o I 4
ITB J 4 117.?5 1 18 98 |
{ | Jss: = 1 1213
. : 437
95 } 58,5517 505
= 2-¢35
A, |
_H
a 35 P=16n+9 Port 3: M5x0.8
445 300 L=16n+16 35
2
blank plate
(PC5-BP)
19 .
- 4
zg“_g.s "\ \Port 2. M5x0.8
16 | 16 Port 4: M5x0.8
SP Type
445
24.1
500
n P L n P L
— — — 11 185 | 192
60 2 41 48 | 12 | 201 | 208
7 3 57 | 64 | 13 | 217 | 224
4 73 80 14 | 233 | 240
N 4 5 89 | 96 | 15 | 249 | 256
I 6 | 105 | 112 | 16 | 265 | 272
) 7 121 | 128 | 17 | 281 | 288
& 8 | 137|144 | 18 | 297 | 304
9 | 153 | 160 | 19 | 313 | 320
10 | 169 | 176 | 20 | 329 | 336
n: Number of stations
500

B26 @ FONTAL



